Faculty of Veterinary Medicine
Animal Breeding and Genetics (12226)
Second semester 2009/2010
Second Hour Exam                                                       Date: 6/4/2010
Instructor: Jihad ABDALLAH                                    Name of student:                

Q1. (2.5 POINTS) Answer each of the following with True or False
1. -------Repeatability can be viewed as the correlation between different records on the same animals.
2. ------- When we estimate heritability from offspring-father regression we multiply the slope by 2.
3. -------In Labrador dogs the genotype bbEE gives a yellow color.
4. ------- Repeatability of number born per lambing in sheep is high.
5. ------- Progeny testing based on half-sib daughters gives higher accuracy of prediction than progeny testing based on full-sib daughters
Q2. (3 POINTS) Give an example on each of the following:
1. Complete dominance in cattle-------------------------------------------

2. Partial dominance-----------------------------------------
3. Trait with low heritability---------------------------------

4. A trait with high repeatability------------------------------
5. Simply inherited trait--------------------------------------

6. Polygenic trait----------------------------------------------

Q2.    a) (1.5 POINTS) Mention three forces which may affect Hardy-Weinberg equilibrium.
          b) (2 POINTS) What does heritability in the narrow sense measure?
       c) (2 POINTS) Write down the genetic model for a repeated quantitative trait.

Q3. (3.5 POINTS) A flock of sheep of 500 heads is composed of the following genotypes at a given locus:  300 BB, 150 Bb, and 50 bb. Calculate the genotypic frequencies and allele frequencies. 
Q4. (6 POINTS)  A dairy sire has 60 half-sib daughters each with a single record. Suppose that the average of milk records on the 60 daughters is 7000 kg and the population average is 6000 kg. Assuming that the heritability of milk yield is 0.28, compute the breeding value of the sire from these information and the accuracy of prediction. 

Q5. (4.5 POINTS) Calculate the additive relationship coefficients between animals in the given pedigree. 
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Prediction of breeding values:
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